IRREGULAR VERBS : eo, 1re (go); fero, ferre, tuli, latum (bring, bear, carry, say) : indicative and subjunctive
These verbs frequently appear in compound forms, e.g. abeo, refero, ctc.

1 eo
you (8.) 1s
s/he, it it

we mmus
you(p.)  Ttis
they eunt
1 1bo
you (8.) 1bis
s/he, it 1bit
we 1bimus
you(p)  T1bitis
they Tbunt
1 Tbam

you (8.) 1bas
s/he, it 1bat

we 1bamus
you(p)  Tbatis
they 1bant
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eam
eas
eat
eamus
eatis
eant

PRESENT ACTIVE
fero feram
fers feras
fert ferat
ferimus feramus
fertis feratis
ferunt ferant

FUTURE ACTIVE (no future subjunctive)

rem
1res
1ret
remus
retis
1rent

feram

feres

feret

ferémus

ferétis

ferent

IMPERFECT ACTIVE
ferebam ferrem
ferebas ferres
ferebat ferret
ferebamus ferremus
ferebatis ferretis
ferebant ferrent
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IRREGULAR VERBS : eo, 1re (go); fero, ferre, tuli, latum (bring, bear, carry, say) : indicative and subjunctive
These verbs frequently appear in compound forms, e.g. abeo, refero, ctc.

PERFECT ACTIVE
1 11 (or vi)* lerim (or Tverim)* tult tulerim
you(s.)  TStT (or -iisti) ieris tulisti tuleris
sthe, it it ierit tulit tulerit
we 1imus 1ermmus tulimus tulerimus
you (p-)  TstiS (or -iistD) ieritis tulistis tulerttis
they ierunt (iere) ierint tulérunt (wlere) tulerint
FUTURE PERFECT ACTIVE (no future perfect subjunctive)
1 1€10 (or Tverd)* tulero
you(s.)  feris tuleris
she it jerit tulerit
we lerimus tulerimus
you(p.)  feritis tuleritis
they ierint tulerint
PLUPERFECT ACTIVE
1 1eram (or iveram)* 1SS€M (oriissem or  tuleram tulissem
Tvissem)*
you(s.)  jeras 1ss€s tuleras tulissés
s/e, it jerat Tsset tulerat tulisset
we leramus 1Ss€mus tuleramus tulissémus
you(p.)  jeratis 1SSEtis tuleratis tulissétis
they lerant 1ssent tulerant tulissent

* These alternative endings may appear in any of the six persons (/, you, she, etc).
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IRREGULAR VERBS : eo, 1re (go); fero, ferre, tuli, latum (bring, bear, carry, say) : indicative and subjunctive
These verbs frequently appear in compound forms, e.g. abeo, refero, ctc.

PRESENT PASSIVE
I To go does not have a passive in feror ferar fertur and feruntur (and ferunt in the
you (s.) English.* However, €0, Ire does ferris feraris (-re) active) often mean say, report: i.e., is

said, are said, they say

s/he, it appear in the passive, impersonally, fertur ferdtur
e in the 3 person singular present fors ford
(itur) and perfect, itum est, meaning er}m‘_ﬂ eraml.lr
You®)  fhere is/was a going, i.e. people (or ferimint feramint
they whoever is mentioned) go. feruntur ferantur

FUTURE PASSIVE (no future subjunctive)

1 ferar
you (s.) fereris (-re)
s/he, it feretur
we feremur
you (p.) ferémini
they ferentur

IMPERFECT PASSIVE
I ferebar ferrer
you (s.) ferébaris (-re) ferréris (-re)
sthe, it ferébatur ferrétur
we ferebamur ferrémur
you (p.) ferebamini ferrémini
they ferébantur ferrentur

* Many compounds of intransitive verbs are transitive (i.e. take direct objects), and therefore appear in the passive; e.g. aded,-ire (approach, enter on, undertake)
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IRREGULAR VERBS : eo, 1re (go); fero, ferre, tuli, latum (bring, bear, carry, say) : indicative and subjunctive

you (8.)
s/he, it

we

you (p.)
they

1

you (s.)
s/he, it

we

you (p.)
they

1
you (s.)
s/he, it

we

you (p.)
they
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These verbs frequently appear in compound forms, e.g. abeo, refero, ctc.

PERFECT PASSIVE

latus/a sum
latus/a es
latus/a est
lat1/ae sumus
latt/ae estis
lat1/ae sunt

latus/a sim
latus/a sis
latus/a sit
latt/ae sTmus
lat1/ae sitis
latt/ae sint

FUTURE PERFECT PASSIVE (no future perfect subjunctive)

latus/a erd
latus/a eris
latus/a erit
latt/ae erimus
lati/ae eritis
lat1/ae erunt

PLUPERFECT PASSIVE

latus/a eram
latus/a eras
latus/a erat
lat/ae eramus
lati/ae eratis
lati/ae erant

latus/a essem
latus/a esses
latus/a esset
latr/ae essemus
lat1/ae esséetis
latt/ae essent
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